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Here: I and P denote actually impatient and actually patient.
Assuming that it is always best to take a consumption opportunity if one
can, the above equations give utility as a function of withdrawals.
Feasibility is not relevant here.
Assume that the left-over cash balance (in or out of bank) is the
argument of u(·). (Alternatively: at the end of period 2, left-over cash is
deposited)
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Important for ICC.
Bayes Rule:

Prob(A|B) =
Prob(B|A)Prob(A)

Prob(B)

A = α, Prob(A) = f (α)

B = depositor is patient

Prob(B) =
∫ ᾱ

0
(1− a)f (a)da

Prob(B|A) = 1− α



Now I stands for ”withdraw in Period 1”

P Stands for ”did not (or could not) withdraw in Period 1”

α1 measures actually withdraw in period 1

2 Technologies (Wallace)

liquid: 1 unit yields 1 unit in period 1

OR RI > 1 units in period 2

illiquid: 1 unit yields 0 in period 1

but Ri units > RI > 1 in period 2
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P(α1)| Equation (RC) holds for all α1}









Sequential Service Result

c1(z) = 1 for z ≤ γy .

c1(z) = 0 otherwise (3)



Welfare under Unrestricted Banking











Central Result for Unified System:

Under the optimal contract, there is no run equilibrium.




















